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TRIGONOMETRIC EQUATION
DPP -1

1. General solution of tan 50 = cot 20 is
(A Bt OB B PEF Hees i (S B e B
7 14 T 3 T 2 ¥ 3
2. The general solution of the equation cos x + sec x = 2 is given by-
117T 1170
(A) 2nm; nel (B nmt;, nel (C)?,H&I (D)?,HEI
3. If 2 tan%0 = sec?0, then the general value of 0 is
(B)nr+ —:nel (B) nt-— ;nel
4 4
T T
(C)ﬂniz;nﬁl (D)Zﬂniz;ntl
4. The solution set of (2 cos x - 1) (3 + 2 cos x) = 0in the interval 0 < X < 2n is-
(A) {n/3%} (B) {n/3, 5n/3}
(C) {n/3, 5n/3, cos1(-3/2)} (D) None of these
2
s The most general value of 6 which satisfies both the equations tan6 = /3 and cosec 6 = - NE s
4m 27
(A) et = jnel (B) tt— FHel
4 2m
(C)Znn+7:n&1 (D) 2nn+ — ; nel
1
6. The general value of 0 satisfying the equation sin40 - 2cos 0 +1 =)
T T T
(A) 2nn £ — (B) 2nn % q (C) 20k &+ = (D) None of these
7. If 1 + cot 6 = cosec 6, then the general value of 6 is
1L il Tt
(A) nn + 5 (B) 2nn - P (C) 2nn + 5 (D) None of these
8. If cot 8 + tan 6 = 2 cosec 8, then the general value of 6 is
i T T |
(A) nn d:g (B) nx :I:E (C) 2nmn :I:E (D) 2nn :tg
Integer Type
9, If general solution of the equation tan26 + 2./3 tan 8 = 1 is in the form of (kn+ 1]1J—T2 (when n is

any integer) then find the lowest value of k

10. The number of solution of the equation
4sin® cos B -2cos B - 2./3 sin 6+, /3 = 0in the interval (0, 2r) is-
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TRIGONOMETRIC EQUATION
DPP - 2

. 1
1. The number of distinct real roots of the equation V3INX ————— = C05X (where 0 < X < 2n) iS
\Sin X
(A) 1 (B) 2 (C) 3 (D) more than 3
2. General solution of sin3x + cos3x +%sin 2X =1
(A) X = nm when n is even integer (B) X = nn +§ when n is odd integer

(C) x = 2nx when n is odd integer

3. If cos 20 = (\5+1)(c058—%

—

m . .
(D) X = nt — — when n is even integer

P

J, then the value of 0 is

78 I it
(A) 2nn +E (B) 2n=n :I:Z (C) 2nn 2 (D) None of these
4. If 2sin?2 x +sin2 2x = 2, -n < X < 7, then x =
T T 3n
(A) :I:E (B) £— () B} (D) None of these
5. If 3-2cosb-4sin6 -cos 26 + sin20 = 0, then 0 is

(A) (4n+1)g,nez

(B) (4n+1)‘_;unez

(C) (4n+l)gu2nn,nez (D) none
6. The number of solutions of the equation /{3 18tanx =6tanx - 3, where -2n < X < 2n is
(A) O (B) 2 (C) 4 (D) 8
7. The general solution of cos x +ﬁ Sin X = ﬁ S
: |
Mo i -j2ﬂrt+ELuJ2ﬂn+E}
(R) 2+ (B (20t g Ay

|

(C) {2”“ + EI} U <{2r|’rr + %}

(D) none
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8. The general Solution of 1 + \/g tan x = (1+\/§)tan X 1S

(A) 2]]-;4—13[ (B) nn+%
[ ’”?1 J Hﬁl J’ ”l [. ”l
C N+ —:uUsNT+—> D) Z2NT+— U {NT+—
S ATl B L Y el B
Ineter Type
9. Find the number of solutions of the equation 4 sin x cos? x — 2 sin? x = 3sin x lying in the interval
[0, 2n] is

10. Number of roots of the equation 2 sin°x + 6 sin’x -sinx -3 =0 in (0, 2n), are
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TRIGONOMETRIC EQUATION
DPP -3

1. Ifx+y+2z=mxntanxtany = 2, tan x + tany + tanz = 6 then the value of z is-

(A) nx + g (B) tanx + tan-12  (C) nx + tan-13 (D) None of these

2. General solution of the equation 4 sin?0 + /3 = 2(1 +,/3) sin 0 is -

A jy E = 5 L L
(A) nmt + (-1) G,nn+(~) 3 ()nn+6,n:rr 3
) T
(CY{3n X+ 1), 160 £ 1)?_- (D) None of these
) }
3. Solve : cot O + tan 0 = 2 cosec O
(A)n=2nni%;nel (B){J=nnﬂ:%;n&1
(C)HzZﬂn:tg;nEI (D)6 = 2nn £ m;n e I
4. If cos/76 = costH - sin46, then the general value of 0 is
NT NI T Nt N T
i [y
NnT Nx T Nt N T
-1)" — -1)" —
(P (D) &35+

5.  The general solution of the equation (/3 ~1) sind + (V3 +1)cos8 = 2 is

i1 T TE T
+ —+ +(-1)" —+—
(A) 2nn 2113 (B) nu +(-1) 2715
T T Tt e
+ —- -1)n— - —
(C) 2nm 2715 (D) nn +(-1) 215
6. If cosO + cos 70 + cos 30 + cos 50 = 0, then 0 =
(A)%T;HEI (B)”—;;nEI (C)“—;;ngl;nﬁk(o)ﬂf;nu
7. If tan0 + tanZ6 + tano tanZ20 = 1 then general value of 0 is -
7T
(A) nm; n el (B)nmx —; nel
nit T
(L = +l_’?; nel (D) none of these
=t

pa
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8. The general solution of tan 3x —tan 2x -tanx =0 is

2N nr nr. nr.
(A) T,nez (B) ?,nez (C) T,nez (D) ?,nez
Multiple Type
9. The general solution of cos? 2x + cos? x = 1 is/ are
(A) (2”—1)‘2 (B) (21’?—1)% (C) (2n~1)% (D) (2n-1)g
Integer Type

kN

10. If the general solution of equation tan x + tan 4x + tan 7x = tan x tan 4x tan 7x is (nis any

natural number, K is any constant) then find value of K.
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TRIGONOMETRIC EQUATION
DPP -4

1. Number of solutions of the equation tan x + sec x = 2 cos X in (- =n, 2mn), is
(A) 1 (B) 2 (C) 3 (D) 4
2. Number of solutions of the equation cosbx + tansx + cosébx . tan?x = 1in the interval [0, 2n] is -
(A) 4 (B) 5 (C) 6 (D) 7
< The general solution of sin x — 3 sin 2x + sin 3X = c0s X — 3 COS 2X + COs 3X is
x 0E . = gy NE 43
(A) nn + 3 (B) > t 3 (C) (-1) > t 3 (D) 2nn + cos 5
4, If cosO + cos 70 + cos 30 + cos 50 = 0, then 0 is
(A) & (B) ° o (D) None of these
4 2 8
5. Total number of solutions of sin x . tan 4x = cos x belonging to (0, =) are
(A) 4 (B) 7 (C) 8 (D) 5
6. sin30=4sinB sin20 sin40 in 0 <0 <m has
(A) 2 real solutions (B) 4 real solutions
(C) 6 real solutions (D) 8 real solutions.
7. The number of roots of the equation, sin x + 2 sin 2x = 3 + sin 3x is
(A) O (B) 1 (C) 2 (D) infinite
8. Number of solutions of 5 cos?0 — 3 sin? 0 + 6 sin 6 cos 6 = 7 in the interval [0, 2x] is..........
(A) O (B) 1 (C) 2 (D) 3
Multiple Type
9, Number of solution of the equation sin 57}{ - sin % = 2 in the interval [0, 2x], is n then n is less
than
(A) O (B) 1 (C) 2 (D) 3

10. Which of the following sets can be the subset of the general solution of the equation 1+ cos 3x = 2cos 2 x ?

(A)nn+%,nel (B)nn+g,nel (Ont-—,nel (D)2nm nel
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TRIGONOMETRIC EQUATION
DPP -5

1. The set of values of x for which sin x . cos3x > cos x . sin®x in [0, 2x], is
T T
(A) (0, n) (B) | ¥ » (C) |77 (D) none of these
2, The value of x satisfying the equation \/1+ SINX  — \/l—SmX - 251[!5 are where n €l
(A) 2nt < X < 2(n + 1)m (B) 2nt - /2 < X < 2nm + 7t/2
(C) nt - /4 < x < nt +71/4 (D) (2n-1)7t/2 < x < (2n+1)~

3. The smallest positive root of the equation \/sin(l n—x) = 4/COSX IS

x 3ﬂ+l o 7’H+l . llﬂ;+l n T[+l
()42 ()42 ()42 ()42
4. General solution of the equation sec X = 1 + €C0S X + COS?X + COS>X + .......... 0, IS
T T T i
(A) nm + — (B) Z2nm £ — (C) Nt = — (D) 201 -+ —
3 3 O §
where n is an integer.
5. The true solution set of the inequality sin x + sin 2x =0 in (0, 2m) is
2n| | 4m] n| |4n ]
i - 0,—|(uwu|—.2n
(A) [Oﬁ?’um:& (B)( 3173
(2n 4m | | 5m St
(& 1 | —, 27 D T
© 553 ] ()[ojn]uh,zn]
6. General solution of the equation | cos x | = sin X, is
(A) Nt + (-1~ (B) 2nm £ — (C) Nt + — (D) 2n7 + —
4 4 4 4
where n € I
7. Number of solutions of the equation 2 tan’x - 5secx =1 in (- m 2n) is equal to
(A) 2 (B) 3 (C) 4 (D) 5
8. General solution of the trigonometric equation, (25‘11143 o 1] l =2, 18
’ c054§-
21 T 27 2 2T
(A) Nt + — (B) nt = — (C) 2Nt + — (D) 2nmt £ —
3 3 3 3
where n € 1
Integer Type
9. The number of solutions of the equation, sin 2x + cos 2x +sinXx +cosXx +1 =0
where X € [0, 2n], Is
.5 5 1 1
10. The number of solutions of the equation, Sl X—CO0S X = - , (SinX = cosx) is

COSX SInX
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TRIGONOMETRIC EQUATION
DPP -6

: I Number of principal solution(s) of the equation, 4-16“"27{ — 90snx g
(A) 1 (B) 2 (C) 3 (D) 4

2. Number of solution of the equation 2\/¢0560~3m‘50 =1+ cos 20 in [-m, n] is
(A) 1 (B) 2 (C) 3 (D) 4

3. The true set of values of x € (_; . ;] satisfying \ 4smx —1 ‘ «-::\/5 is equal to

(ﬂ? 3:1:'] [—TE 311) {_H :rrJ (—271: ﬂ:J
(A) 10" 10 LB) 10 10 ) 5“8 (D) 3 73

I... a "’ [ a .‘I ..\.I
L\jsm" Xx—2smx+3 —2sm”y |

4, I 2° <1 then number of ordered pairs (x, y) in [0, 2r]
(A) O (B) 1 (C) 2 (D) 3
5. Let O € [0, 4r] satisfying the equation (sin O + 2) (sin 6 + 3) (sin 0 + 4) = 6. If the sum of all
value of O is of the form kr then the value of 'k', is
(A) 6 (B) 5 (C) 4 (D) 2
6. Number of solutions of the equation sin x + sin?x + sin3x + sin%x + ........ w = 2 where x € [0,
4], is
(A) 2 (B) 4 (C) 5 (D) 6
-
7. In the interval |0, 5 the equation cos?x - cos x - x =0 has
(A) no solution (B) exactly one solution
(C) exactly two solutions (D) more than two solutions
0
8. Number of values of O lying in (=6, 3) and satisfying cc:t-i =1+ cot9,is
(A) 2 (B) 3 (C) 8 (LY 1.3
Integer Type
X 1
0. The number of solution of ZEDSZ[EJSiHZX = X2 +F, DER Z0/ 2 15 soisn
Multiple Type

10. The values of x satisfying the system of equations opsmy-cosy _ 1(;;5i‘11~“'*~“3’52-“ — 4 are given by

T 4

L T -
(A) x =nn+(-1)" ~ and Ve Vi (B) X = nn+(-D)""= and y=2nnt—

6 3 ¢ 3
(C) x = FTTT“F(_“"[)H{E and v = 2;mi? (D) X = j,mjL(_]);:--z?ﬂ il 5= 2"?3’Ti2,—;
? )
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